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Miss Lolita

Determine if each pair of figures are congruent. If so, describe a sequence of
transformations that maps one figure onto the other figure. If not, explain why
they are not congruent. (Examples 1and 23

notl congruent: Sample answer: Mo
spquence of rolations, reflections, and/or
translations will match the two figures up

2.

3. Paralletogram CAMP is congruent to paralkedogram SITE, Determing
which sequence ol ransformalions maps parallelogram CAMP onto
parallefogram SITE. Example 5

Sample answer: If you rotate parallelogram CAMP 90°
counterclockwise about the origin and then translate it
4 units down, it coincides with paralielogram S/TE.

&. ot his school web page, Manuel created the logo shown al the rghl. What
transformations could be used o creale the logo il Hgure A is the preimage
and Fgure B is the image? Are the two figures congruent? Examese 4

Sample answer: a rotation followed by a translation; They
are congruent.

congruent, Sample answer: Reflecting
SABRC across the x-axis followed by a
translation 4 units left maps AABC onto

F

4

{

e,

-




Grade 8 REVISION BEDA’A AT. MUTAW’A SCHOOI. -TERM 3 /2023

Q1. Use composition of transformation, as well as the orientation of figure, determine 1-6 P(491-492)
Two figures are congruent.

= For the local ot gallery opening, the curator had the design shown al __A
the rightl crested. Whal transtormalions could be used Lo creale Lhe e —F’| [
chezsign i Hogure Ads he prefmage and Hgure B is the image? Ace the S

b Tigures congruenl? Exampic 4)

Sample answer: a reflection followed by a translation; They are congruent.

6. Multiple Choice Trapezod QREST and its image are shown. What e §
transformation maps trapezoid GRST onto trapezoid LMNO? ™, A
(o) dilation about verlex & " £

(%] ]
@verﬁcul Lraanslation
L o

. relleclion across a horizonlal line

@ ralition aboul vertex O

Q2. Use the properties of rotation, translations, reflections to identify congruent parts of 1-8 P(499-500)
Congruent figures and to find missing measures.

Write congruence statements comparing the comresponding parts in each set of
congruent figures. (Exampic 1)

1

LW == LX, LU = LY, L8 = LT, WU = XY, X
US=YT, SW=1X LM = 2Y, ZN = £Z, L0 == LW, LP = /X,



5. In the quilt design shown, ARST = ARWX
It mZWXR = 62°, what is the measure of
ZSTR? gxampic 2) 62°

Apply “indicates multi-step problem

*7. In the roof construction shown,
ADABC = ADEF. If AB = 85 feetand _
AC = 10 feet, what is the length of EF ?
Round to the nearest tenth. 5.3 ft

LK== L0, LM = L1, ZR= LP,RM=PL,
MK =[O, KR = QP

Test Practice

6. Open Response In the baseball diamond
shown, ABEA = AARB. The length of BE is
90 feel. What is the length of AR? (Exampic 2)

901t B

Il

*8. In the city park map shown, ADEF = AJKL.
The distance from D to £ is 20 yards and the
distance from D to Fis 40 yards. What is the
distance from K to L? Round to the nearest
tenth. 44.7 yd




Q3. Determine if two figures are similar by determining a sequence of rotations, reflection, 1-5 P(511)
Translation and dilation that map one similar figure onto another.

Determine if each pair of figures is similar. If so, describe a sequence of
transformations that maps one figure onto the other figure. If not, explain
why they are not similar. (txamples 1and 2)

1. “A | | 'B r l ] 2.
| Smam, |
ol | | = t ¢
| !1|J§,-,,-,,_ 17
[5) C I
similar; Sample answer: Dilating rectangle not similar; Sample answer: The ratios of
ABCD using a scale factor of 0.5 and center the side lengths are not equal for all of the
of dilation at the origin, and then translating sides, so a dilation did not occur.
it 3 units to the right maps rectangie ABCD
onto rectangle EFGH.
3. Triangle ABC is similar to AXYZ. Determine EESGEEERTS
which sequence of ransformations maps T e i
DABC onto AXYZ. (Exampic 3)
PP 4NN _Bv‘,ﬂ, :
Sampie answer: Dilate triangle ABC using a ' ol 1\ -
scale factor of 2 and center of dilation at the | | = |
origin, and then rotate it 90° . -
counterclockwise about the origin. -
Test Practice
4, Jennais creating a mural for her bedroom 5. Multiple Choice Which sequence of
wraall She veould like Lo copy a piclure that is Iransformeaslions can be wsed Lo show thal
2inches by 25 inches. She uses a copy bwo figures are similar but nol necessarily
machine o enfarge il by a scalke factor of 4. congruent?
Then she projects it on her wall by a scale ':i'llialiﬂn s rnlating

Taclor of 120 Whal are the dimensions of the ) ;
mural? Are the enlarged pictures similar o @lmn‘;‘.lalmn and reflection

the ariginal? Example 4 @relt-r—:r_-liun and rotation
96 in. by 120 in.; yes () retation and Lranslation




Q4. Use properties of similar figures to determine similarity and to find missing measures.

1-7 P(521)

Determine whether each pair of polygons is similar. If so, write a
similarity statement. (Exampics 1and 2)
1 B

101
A oy 4
D
Y w
150 151
X similar; ABCD ~ EFGH
not similar
3. Vv 4. :
o l
R ) Vv
u
el not similar
similar; AYWX —~ AUWV

Each pair of polygons is similar. Find each missing side measure. (Exampic 3)

5. N 4 o v 10 T 6. C
, : : o 18 o
f b
X
M M % L 1B 12
s
o g A

14 units
9 units

Test Practice

o AARC - AXYE
SABC = AXTS

7. Multiselect Which of the followdng is rue aboul AABTC and AXYE? Select all thal apply.

" The lrangles are similar. i UL L
The Lriangles are not similar. % '.l' j_vj
Thez LriEangles e congruenl i

i 7 A




Find the volume of each cylinder. Round to the nearest tenth. [Exampic 1)

1 7cm

3,078.8 cm®

8ft

1,809.6 2

Find the volume of each cylinder. Express your answer in terms of 7. {txamplic 2)

o

10 ft

5. A wooden toy block is in the shape of a cylinder. The toy block has a height of
4 inches and a diameter of 3 inches. How much does the toy block weigh if
1 cubic inch of wood weighs 0.55 ounce? Round to the nearest tenth. fxample 3)

15.6 ounces

6. A large rainwater collection tub is shaped
like a cylinder. The diameter is 28 inches
and the height is 40 inches. If the tub is
75% filled, what is the volume of water in the
tub? Round to the nearest tenth.

18,4726 in?

Test Practice

7. Muttiple Choice What is the volume of the
cylinder shown? (Use 3.4 for )
19in. -




Find the volume of each cone. Express your answer in terms of 7. (Examplc 1)

2t

757 mm?

5. Afunnel is in the shape of a cone. The
radius is 2 inches and the height is
4.6 inches. What is the volume of the funnel?
Round to the nearest tenth. Exampic 2)

19.3in*

7. Alampshade is in the shape of a cona. The
diameter is 5 inches and the height is
6.5 inches. Find the volume. Round to the
nearest tenth. {ample 2)

425in?

23,6257 cm®

6. Marta bought a paperweight in the shape of
a cone. The radius was 10 centimeters and
the height 9 centimeters. Find the volume.

Round to the nearest tenth. Exampic 2)
9425 cm?

Test Practice

8. Multiple Choice What
is the volume of the
cone shown?

(Use 3. for )

@ 7.0685835 mna?
(&) 1.137,166.9 mm?
© 21,205,750.4 mm*

(©)229:33304 mm?

-

300 mm




Find the volume of each solid. Round to the nearest tenth. [Exampic 1)

2,198.9 cn?

5. Find the volume of the salt shaker. Round to
the nearest tenth.

24in.

Test Practice

4. Find the volume of the nail peolish bottle.

Round to the nearest tenth. Example 3)
11 mm

28 mm

22mm
22 mm

15,262.6 mm?

6. Find the volume of the solid. Round to the

nearest tenth.
Scm Scm

4.764.7 cm?

7. Open Response A box contains six identical
cans, as shown. What percentage of the
volume of the box is occupied by the cans?
Round to the nearest tenth of a percent.

[38.5%«:78.5%




Q8. Use a set of bivariate data to construct a scatter plot and describe the association as 1-3 P(589)

Positive or negative and as linear or non linear.

1. Thetable shows the average points scored per game by an
ME& player in the first ten seasons of his career. Constnect Sample answer:

a scatter plot of the data. (Exampiz 1) a4 Baskethall
z i} :
Season e | [ | | s sl I
| b T i |
B | il .
Hoverarye. Poinks =
Per & 282 227 | 371 350 325 2 s : I : 4
- - B [ ™ 1
[ TR 1
G i 2 5 10 & | m
| | | % o[ HH
Joverage Points B b
Per G 336 315 | 204 | 326 | 269 3 I ) N
T 232456 6 Y850
Srcason
Test Practice
2. The scatter plot shows the relationship 3. Multiple Choice The scatter plat shows the
betweaen the number of pieces in a jigsaw relationship bebween the birth manth of
purzle and the number of minutes that ara every student in Mari's class and their
recommended o complete the puzzle. he=ight. Which is the best interpretation of
Interpret the scakter plob. jExampic 2y the data? jExample 2)
Puzzle Completion Height of Students
g =/ AP ei——
400 ¥ I Eils ¥ ] p
S i i e W
:E_ ..._._l_. .i._ I E-lu.u : .
g 200 T 45 |
= i | } -:-IJ# | | | x!
I I oL I L I I I FMAMI JASOND
L | | X Birth Month
200 4D GO0 BO0 00D
Number of Pieces {&) As the manths progress, the heights

of the students increase. There is a
positive, linear association. There are
no clusters or outliers.

.The heigit of a student does not
depend an their birth month. The

scalter plot shows no association.

sample answer: As the number of pieces
increases, time increases, so the scatter
plot shows a positive association. The
association is Enear. There is one duster
and no outliers.

@ As the months progress, the heights
of the students decrease. Thera is a
negative, linsar assodation. Thers are
no clusters or outliers.

{2) As the months progress, the heights
of the students are the same. There is

a positive, linsar assoociation.




Q9. Use a scatter plot to draw a line that closely fits the data and predict values that are not 1-4 P(597)
Present in the original data set.

1. The table shows the average combined miles per gallon Fused
MPG) and greenhouse gas [(GHG) ratng for certain mid-size 1': LN
cars. Construct & scatter plot. Then draw and assess a line that 8 | |
seems o represent the data. fEeamote 1) ) __]I_ _I._ —
o 3
— 'I:I - .
Lol g0 il 27 | 25 | 31 |28 | 96 | 26 E-_. il
e A =" @, A
iGHG Rating 5 G ) F 3 G ,.I} 5 ! I
fotonv 0 ool 35| A1 | 24 |32 | 30 | 23 ': | Il
! { | | =
GHG Rating g a = & 7 e L T B [ e R
Sample answer: Since most of the points lie close to the line, tnge Y
the model is a good fit
2. The table shows the fat and Calorie content for several smack Mutrition
foods. Constnect a scatter plot Then draw and assess a ine i’ﬂ Fi 1T UL 0]
that s=ems o represent the data. Examphz 1) o |
: = |
= U 1
Fat ) 1 & 7 | 8 |2 | ®w | 20 B g 13 et
— | 5w
o= P00 222 239 27 338 | 339 385 L F !
2 g
Sample answer: Since most of the points lie close to the line, il ™=
the model is a good fit 5 . ™ o0
Fat (g)

3. The scatter plot shows the number of cups A, The scatter plot shows the height and shoe
of hot chocodate sold at a football game and size of the players on the boys” basketball

the average temperature during the game. team Usze the line of fitto maks a
Use the lime of fit to make a conjeciure conjecture about the shoe size of a boy on
aboat the number of cups of hot chocolate the team that i 59 inches tall Exampie 2)
=old if the average temperature is SO0°F. Backetball Team
[Exampic 2] 12 T T T
Hot Chacolate n I l "J

50 . . o o o

a5 - .]l_ - .I_ = 9 i Rl ke I

an ) I ﬁ EII = _..__:_.4- =

- ITw
2 2 T4t
=3 ;z b : B ool
= L
B 1 - ] I | | X

11‘: - O 5O 52 54 5658 6O 62 64 66 68

x Height (in.)
a5 80 & S0 LE B EL I R BD
Temperature () Sample answer: 1.5

Sample answer: 27 cups of hol chocolate



Q10. Find the equation of a line that closely fits the data and predict values that arenot 1-4 P(607)

Present in the original data set.

1. The =catter plot shows the number of girls
that participated in high school sports. Write
an equation in slope-intercept form for the
lime of fit that is drawn. Then interpret the

slope and y-ntercept. Examplc 1)
Girls' Sporis
et I [ | 1
o] O N
= - HEN
B HFASEE
E .5 )—L‘“ 401
G a1 - .
IR e
%1&—;-’.‘-" I
FriCdERRENE
L 2y i -
g 28 .
Fﬂ;'——'——'"—-' ——1—
% | X
246 B A EEN0
Years Sinoe 2000

Sampte answer: y = 0L03TEx + 2.8; The
number of girls participating in high schoaol
sports increases by about 37,500 girls
every year. in 2000, about 2.8 million giris
participated in high school sports.

3. The scatter plot shows the relationship
between the number of imes a cricket
chirps and the cument temperature. Wite an
equaticn for the line of fit. Then use itto
make a conjecturs about the temperature
when there are 40 cricket chirps. Exampic 2)

Cricket Chi
- I.1E irps
._,Iu._,_i i 5
ENTTITR
e
2 w1
= A
g_m/-; —
E a0 .
T |-
ot i N "

0 A 40 B0 G0 A0 B0 90 HH
Chirps in 14 Seconds

Sample answern: § = x + 30; 70 degrees

2. The =catter plot shows the tips different
restaurant senvers eamed cne night. Wnte
an equation in slope-intercept form for the
line of fit that is drawn. Then interpret the
slope and p-intercept. Example 1)

Tips
¥ A

Tlp Barned (%)
HaruBdRE®dH
%

i

111 1 .

HD 0 30 40 S S & B0 S WU
Check Total ($)

Sampie answer: y = 0.2x; The tip increases
by about 50.20 for every dollar in the check.
The y-intercept of O indicates that for a
check of 50, a server would earn 50.

Test Practice

4. Muktiple Choice The scatter plot shows
the results of a survey about age and daily
time spent playing video games. Which
equation best represents the line of fit?

Viden Games

w
501"' |
w P4 :
- = -JN‘: S I -
EL | .
E 3 . I\. |
l: W = -—u--"-\h,----——-_——-
0 - ""-,‘L |
- oWl | x
T 20 30 40 50 &0 3 20 56 KK
Agee [years)

(Bly — 08 + 80  (Cy — 125x 90
Ey= 08+ 90 @y=-125¢1 90




[ Q11. Please see question 1. 1-6 P(491-492)

Q12. Please see question 3. 1-5 P(511)
Q13. Please see question 2. 1-6 P(499)
Q14. Please see question 5. 1-7 P(541)
Q15. Please see question 6. 1-8 P(549)
-
Q16. Use the formula for the volume of sphere or hemisphere to find the volume of the 1-8 P(557)
Figure given its radius or diameter.
L

Find the volume of each sphere. Express your answer in terms of . (bxample 1)

\ 4

16.2221:;n’ﬂ3 121;3' in® or 121.5x in°

3. A necklace has a single spherical pearl with 4. The radius of a mini-basketball is 4 inches. A

a radius of 21 millimeters. What is the pump can inflate the ball at a rate of 6 cubic
volume of the pearl? Round to the nearest inches per second. How long will it take to
tenth. (Exampic 2) inflate the ball? Round to the nearest tenth.
38.8 mm? (Exampic 3)

44.7 seconds

Find the volume of each hemisphere. Round to the nearest tenth. (Lxampic 4)

629.9 ft3 3,619.1 mm?



Find the volume of each hemisphere. Round to the nearest tenth. (Lxampic 4)

5. % 6. 12 mm
| >

629.9 13 3,619.1 mm?
Test Practice
7. Olga is using sphencal beads to create a 8. Open Response What is the volume of the
border on a picture frame. Each bead has a sphere shown? (Use 3.M for )

diameter of 1.5 millimeters. Find the volume

of each bead. Round to the nearest tenth.
1.8 mm?

2

463,011.84 mm°®

[ Q17. Use volume formulas to solve for missing dimensions in cones, cylinders, and spheres. 1-8 P(565)

1. Thevolume of a cylinder is 72 cubic feet 2. The volume of a odinder is 5,070 cubic

and the radius is & feet. What is the height of centimeters. The height of the cylinder is
the cylinder? {Exumpie 1) 20 centimeters. Find the radius. {Exampic 1)
21t 13 cm

3. Thevolume of a cone is 196 cubic feet. Its 4. The volume of a cone is 7357 cubic
radius is 7 feel Find the height. Example 2) millimeters and the height is & millimeters.
What is the radius of the cone? Exampie 2)
121
21 mm



5 Fnd the radais of o aplere with o solume of 6. The yvohures ol § spbae i 4. 500F culse

2628w cubic Inches, flampia 1) wards. What i the radas of the spheme?
(s T
Fya R
5 yd
Terst ProCiicn
7. Madody had & masg with o deameter of B. Equation Editor The volume of a sphens i=
25 inches and a hesght of 4 mches. tis N i et Firt B chrnateir of
fillact 15 the 100 with wisber. She wants to m?"il:ﬁ'fl‘ bt iiche

pour it info a different mug with a dameter

ol 3 inche<. What i= the mirsmiem height the

oeflerent mug must De S0 does nol “
e fiow? Round o the nainest temh

5.4 in. eRaac

1z
a5 %]

[ Q18. Construct and interpret a two way table using a relative frequency. 1-3 P(617)

1. Omar surveyed students at his school. He found that 23 students are in the
Chess Club, and 8 of those studenis are in the Math Club. There are
19 stidents that are in the Math Club. Ten students are in neither dub.
Construct 8 two-way table summarnizing the data. Examgpic 1




2. The table shows the results of a survey that asked seventh and eighth grade
sStwdents whether they buy or pack thesr lunch. Find the relative frequences.
Round to the nearest hundredth, Are seventh graders or edghth graders more

See table for row relative frequencies; Sample answer: Bghth graders are
more likely than seventh grades to buy their lunch because 0.67 > 0.40.

3. The table shows the results of a survey about the number of bus nders at
McGuffey Junior High. Find the relative frequences. Round to the nearest
hundreaeh. Are male students o female students more kikely 1o not nde the
bus? Explain. ftxaepico B

110 0.56
85 044 42 033 127
195 1.00 126 1.00 21

See table for column relative frequencies; Sampice answer: Male
students are more likely than female students 1o not ride the bus
because 0.44 > 033,

[

Q19. Use relative frequency to determine if an association exist between categories in a 1-3
Two wav table.

1. The two-way table shows the number of
seventh and eighth grade students that plan
an attendirg the school dance. Fnd the row
relative frequencies. Then determine if the
data suggest an association betwesn the
categories. Explain your reasoning.
[wamplc 1)

Sample answer: The data suggest that there is an assocation between attendance
and grade, because the relative frequendes are different. A 7th grade student chosen
at random is more likely to not atend the dance as to attend.




2. The two-way table shows the result= of a
sureey about twio possible new ant das=es o

be offer=d at the community center. Find the 45, 2
column relative frequendies. Then determine if 0.39 0.61 L
categories. Explain your reasoning. [Bampic 7) GE; 3] -
0.61 0.39
#dk 1y
1.00 1.00 £30

Sample answer: The data suggest an association between age and class interest, because the
relative frequencies are different. A person chosen at random that is 30 or older is less likely to

choose photography than pottery.
Test Practice

3. Multiple Choice The two-way table shows
the number of middle school and high
school students that use sodal media

Based on the relative freguencies, which
one of the following is ot tnes?

A10

1310 4490 1750
1720 1,255 2905

215

@ A student that is chosen at random that uses social media is more likely to be
a middie =chool student than a high school student.

(i} A student that is chosen at random that does not use social media is
more likely to be a middie schiool stedent than a high schoold student.

() A middle school student that is chosen at random is less likely to use
sodal media.

Q20. Use a set of bivariate data to construct a scatter plot and describe the association as 1-4 P(589-590)

Positive or negative and as linear or non linear.

1. The table shows the average points scored per game by an
MEA player im the first ten seasons of his career. Construct Sample answers:

a scatter plot of the data. {Exmpic 1 - Baskathall
= T
Season 1 2 3 4 5 E a0 d -
{ I 3%
K I 3 J‘ |
Aerage Points a =
ozt i 282 227 | 371 350 1325 & 2 L .
Season 6 7 |8 8 |1 E_ . [ |
T — sl 2w | |
5 sy 1E N5 | 301 | 226 | 269 £ Y L=
1228 L J B910
Srazon



2. The scatter plot shows the relationship
between the number of pieces in a jigsaw
puzzle and the number of minutes that are
recommended to complete the puzzle.
Imterpret the scatter plot. Exampe 3

Puzzle Completion
¥ | | |

g § £ &

Tlma {min)

.;l‘._,.. il M [ A -
200 400 GO0 400 0hHD
Mumber of Pieoes

Sample answer: As the number of pieces
increases, time increases, so the scatter
plot shows a positive association. The
association is Enear. There is one duster
and no outliers.

Apply "indicates multi-step problem

Test Practice

3. Muktiple Choice The scatter plot shows the

relationship between the birth month of
eveny student in Mari's class and their
height. Which is the best interpretation of
the data? jExampic 35

Height of Students
BT T T T T T T T T
Eils ; |
Teo ¥ 4]
E Ul 3 ¥ | ¥ T
L
£ 4k | i
0 T

b
I FMAMI JASOHND
Birth Month

’Elﬂ.s the months progress, the heights
of the students increase. There is a
positive, linear association. There are
no dusters ar outliers.

.The height of a student doss not
depend omn their birth month. The

scatter plot shows no association.

@As the months progress, the height=
of the students decrease. There is a
negative, linear assodation. There ars
no clusters or outliers.

{x) As the months progress, the heights
of the stedents are the same. Thera is
a positive, linsar association.

4. The table shows the relationship between the number of days of school missed by
students and their semester grades. interpret a scatter plot representing the data.

Dy Ilismedd

e e e e —

& 3 2
Semester Grade [ VR LR 7
Deys Missed 1 B a
Semester Grade  [RC IR I |

2] ¥ 1 B i) 4
72 & ab Fa a4 2
3 5 12 3 G 2

o i Lt 29 76 a4

Sample answer: As the number of days missed increases, the semester grade decreases.
Therefore, the scatter plot shows a negative association.




[ Q21. Use properties of similar triangle to solve indirect measurement problem. 1-6 P(527)

1. Becky casts a T-iool shadow st The same
Hirne & mesarbey maill o casls & 4-Tool
shad ol 1T e madio s 3 Toesl 1, o Lall

2. Al e same ﬁnr:uﬁ% foot tall lencher casls
& 9-fool shadow, a ey legpole casls a

:-:I-%[uut shadoe. Hiow Lall s Ehe Degpale?

E.Eﬂ::l-al_.-’ [Exdmmgla T)
[Exaiingde 1)
i i fe
II'I in
e i i
Th 4 fi
5.5

3
Ei'ﬂ

3. b the figure, SARE i sitrdlar o AACD.
Whial is e height b of Bhe ramp when il s
2 Tewed from the Bslding T Exsmpla 2}

d. fri the figure, the trigngles are simdar. What
i= e disance o Irorm e vwabed ride Do the
rodbor coasben? Bownd Do e reades] teadh

[Examgda 1)

(=] & i Widast
; i 2l gy Paik
A | i nn A5 m Foim Bl
| E 2h
I 20h
22501
214 m
Te=t Practice

5. Wa Z5-fook-1all house casls B T5-Tool 6. Table Hem A child and a stalwe casts fhe

elwacdow al thee sarme Gime hat a8 streedight
casls & BO-foot shadow, T Ll is e
sireethight?

201t

shadow lenglhs slsown al Bwe same firme
Cormgohitee hee talbee ton T thee Trsighl, i
Feeal, of 1he shatore.
Hesghit off Sunchoed
Dt {1 Leesrniyits (1)
Emma | 35 525

Object

Slatue | 38 =T




[ Q22. Use volume formulas to solve for missing dimension in cones, cylinders, and spheres. 1-6 P(565) ]

1. The volume of a cylinder i 727 cubic feet

and the radius is 6 feel What i the height of

the cylinder? Exampie 1

2t

3. The volume of a cone is 1967 cubic feel. s
radius is 7 feel. Find the heighl Examplo 2}

12 ft

5. Find the radius of a sphere with a valume of
262447 cubic inches. Example 33

27 in.

2. The volume of a oyfinder is 5,070 cubic
centimeters. The height of the odinder is
30 centimeters. Find the radius. Exampie 1)

12 cm

4. The volume of a cone is 735 cubic
millimelers and the height is 5 millimeters.
What is the radius of the cone? [Exampie 2)

21 mm

[ 6. The volume of a sphere is 4 5007 cubic
vards. What is the radius ol the sphere?
[Example 3j

15 yd

Q23. Find the equation of the line that closely fits the data and use it to predict values.
Values that are not present in the original data set.

1-4  P(607)

T he scatter plot shows the rmaamibeor ofF girls
thhat participatcd imn high sciheaoaol sppoats. WWirite
an cguaticss in shopec- interocpt fossrms o e
lime of it thhat s drawsmie T e irvbergoraet thae
=slopscs arnd = intorcopt (Excammpde 1)
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Sample arnswwer:s p— O0O0O3FFSx 1 2.8:; The

ewery year. n 2000, abowt 2.8 million girls
participated imn high school speorts.

2. The scattcer ot shaoaees thae tips differaent

restaurant Sonwers carTeed ores niight WrEbe
are cgueatioss in siopcs - imnmercocopt formn ior thae
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Sample answer: p» — O.2x; The tip increases

by abowut SO.20 for every dollar in the check.
The p—-imbercept of O indicates that for a
check of SO, a server wonld earms S0.
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3. The scatter plot shows the relationship

between the number of tmes a cricket
chirps and the cumrent temperature. Write an
cquation for the line of fit Then use itto
make a conjocture about the temporaturc
when there are 40 oricket chirps. [Example 2)
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Sample answer: y — x | 30; 70 degrees
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4. Multiple Choice The scatter plot shows

the results of a survey about age and daily
time spent playing video games. Which
equation best represents the line of fit?
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(A)y=08r+90 (Ely=125x+90
Bly=—08c+90 @y=-125x+90

[ Q24-25. Undisclosed questions.




